                                                         


                         PCO/CT/2005  


M.Com. DEGREE EXAMINATION, NOVEMBER 2017.
 I Year — II Semester
Core Major — V --  ADVANCED COST ACCOUNTING
Time : 3 Hours












Max. Marks : 75
SECTION A – (10 × 2 = 20 marks)
Answer any TEN questions
1. Define cost accounting.
2. What do you mean by Cost Reduction?
3. Give the meaning of work certified and uncertified
4. What do you understand by Abnormal Loss?
5. What is a reconciliation statement?
6. What are the industries or trades in which operating costing method can be used?
7. Ascertain the cost and selling price from the following:
Material consumed

`6,000
Wages paid


`9,000
Works cost 50% on wages
Office cost 20% on Works cost
Selling cost 10% on works cost
Profit 20% on cost.
8. Prepare process X account from the following:
         Input 100 units at `20 each; wages `3,300; overheads `1000. Normal Loss expected 10% which has no scrap value.
9. A company produces 300 units of Product ‘S’ and 100 units of Product ‘J’ from a single process. The costs up to the point of separation amount to `30,000. You are required to apportion the joint cost of production among the products, using the average unit cost method
.
10. Calculate profit that can be reasonably credited to P/L A/c from  the following details:
                          `
Notional profit
            79,000
Cash received

3,30,000
Work certified

4,00,000
Contract price

6,00,000
11. Calculate the economic batch quantity for a product using batch costing from the following details:
Annual demand for the product 
             =
2,000 units
Set up cost per batch

   
             =
`10
Cost of carrying inventory per unit  
    =
Re.1
12.  A city corporation employs 80 vehicles of 5 ton capacity for conservancy work. On an average each  
          vehicle makes 4 trips a day, covering a distance of 8 k.m,s in each trip. Load actually carried is 80% of the  capacity, on average. On an annual average basis 20% of the vehicles are laid for maintenance on any given  day. The vehicles run 30 days a month. Calculate the total tonne-kms per month.

SECTION B – (5 × 5 = 25 marks)
Answer any FIVE questions
13. What is cost control? Explain its features.
14. What is cost audit? Explain its types.
15. M/s Madhu Industries Ltd. are the manufacturers of moonlight torches. The following data relate to            
         manufacture of torches during the month of March 2009
Raw materials consumed

`20,000
Direct wages



`12,000
Machine hours worked

9,500 hours
Machine hour rate


`2
Office overheads


20% of work cost
Selling overheads 


50 paise per unit
Unit produced



20,000 units
Units sold



         18,000 at `5 per unit
16. From the following particulars ascertain the amount of profit shown in profit and loss account by         
         preparing necessary reconciliation account:

a.
Profit shown as per cost books


         1,40,000

b.
Depreciation shown excess in cost books
     
     2,000

c.
Interest on investment received

     

     1,000

d.
Provision made for Income Tax

   

   40,000

e. 
Income received for share transfer

        
        150

f. 
Factory overhead under recovered in cost     
     3,000

g.
Office expenses under recorded in financial books    1,000
17. The following data are from the costing records of Samarth industries Ltd. in respect of job no.76:
Materials consumed `6,000
Wages:

Cutting Department 20 hours at `50 P/hr.

Shearing Department 10 hours at `40 P/hr.

Boring Department 5 hours at `60 P/hr.
Variable overheads for the respective departments are estimate as follows:

Cutting Department `40,000 for 2,000 Direct labour hours

Shearing Department `20,000 for 2,500 Direct labour hours

Boring Department `10,000 for 400 Direct labour hours.
Fixed overheads are estimated at `1,00,000 for 20,000 normal working hours.
You are required to ascertain the cost of job no.76 and calculate the price to be charged so as to give a profit of 20% on cost.
18. Prepare a process account from the following along with abnormal loss account and normal loss      
         account.
Material issued to process 1000 kgs at `200 each; wages `1,40,000 and overhead `20,000. Normal  loss 10% of input. Actual output 800 kgs. 
19.   Laxmi travels, a transport company is running a fleet of six buses between two towns 75 kms. apart.             
  The seating capacity of each bus is 40 passengers. The following particulars are available for the  

month of April 2007.
Wages of drivers conductors etc.


3,600
Salaries of office and supervisory staff

1,500
Diesel oil etc.,



                10,320
Repairs and maintenance 



1,200
Taxes and insurance



         2,400
Depreciation



                  3,900

Interest and other charges


         3,000
         The actual passengers carried were 80% of the capacity. All the buses run all the days in the month.          

         Each bus made one round trip Per  day.
         Find out cost per passenger kilometre.
SECTION C – (2 × 15 = 30 marks)
Answer any TWO questions
20. The particulars of a factory for the year 2006 are given below :
Raw materials


3,00,000
Direct wages


1,68,000
Works overhead

1,50,000
Office overhead

1,68,000
Selling overhead

1,12,000
Distribution overhead
   70,000
Net profit


        1,10,000
In 2007, the expenses incurred on the execution of a work order:
Raw materials `12,000; wages `7,000; Assuming that in 2007 works overhead went up 20%, distribution overhead went down by10 % and selling and office overheads went up by 12.5%, At what rate of price should the product be quoted so as to earn the rate of profit on the selling price same as in 2006?
21. The product of a company passes through two processes to completion known as A and              
B. From the past experience it is ascertained that loss is incurred in each process as: 
Process A-2%;
process B – 5%
In each case the percentage of loss is computed on the number of units entering the process concerned.
The loss of each process possesses a scrap value. The loss of processes A and B is sold at `5 per 100 units.
The output of each process passes immediately to the next process and the finished units are passed into stock.







          Process  A
  Process B







                  `
                   `





Materials consumed
6,000

4,000




Direct labour


8,000

6,000




Manufacturing expenses
1,000

1,000
20,000 units have been issued to process A  at cost of `10,000. The output of each process  has been as under:

Process A 19,500;
Process B 18,800
        Prepare process Accounts
22.  Raja Sekhar building contractors began to trade on 1-1-2010. The following was the          
        expenditure on a contract for `12,00,000
     `


Materials purchased from stores


3,00,000


Materials purchased for the contract
   
   80,000


Plant installed at cost




1,40,000


Wages paid






4,80,000


Direct expenses paid



   
   44,000


Establishment expenses


  

   20,000


Direct expense accrued due on 31-12-2010       6,000


Wages accrued on 31-12-2010

             4,000
Of the plant and materials charges to the contracts, plant cost `10,000 and materials costing `8,000 were lost. Some part of the materials costing `5,000 were sold at a profit of `1,000.  On 31st December 2010 plant which cost `4,000 was returned to stores and plant which cost `3,000 was transferred to some other contract.
The work certified was `9,60,000 and 80% of the same was received in cash. The cost of work done but uncertified was `6,000. Charge depreciation on plant at 10% p.a. You are required to prepare the contract account for the year ended 31st Dec.2010 by transferring to the profit and loss account the portion of profit, if any, which you consider reasonable.
23. The following cost data is available from the books of ABC power Co. Ltd. for 2009.     
        Prepare cost sheet showing cost of power generation per unit of K.W.H
               `


Operating labour

           16,500


Plant Supervision

    
     5,250


Lubricants


  
   10,500


Repairs

                
   21,000


Administration overheads
     9,000


Capital cost


        1,50,000
Total units of power generated 15,00,000.  Coal consumed per K.W.H for the year is 1.5  pounds and the cost of coal purchased is    
        `33.06 per metric ton, depreciation is at 4% per annum and the interest on capital is to be    

        taken at 7% 
------------------
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